~ . C Series
CASTERS




IR \N\\\

50

CASTERS

Picture

C-4A

C-4 ESD

C-4A ESD

Part No.

C-3TPR75G

C-3TPR75GCP

C-3TPRV5GSUS

C-4TPR50G
C-4TPR50GCP
C-4TPR50GSUS
C-4TPR75G
C-4TPR75GCP
C-4TPR75GSUS
C-4TPR100G
C-4TPR100GCPF
C-4TPR100GSUS

C-4ATPR75G
C-4ATPR7TSGCP
C-4ATPR75GSUS
C-4ATPRI100G
C-4ATFR100GCF
C-4ATPR100GSUS

C-4TPRESD75G
C-4TPRESD75GCP

C-4TPRESD75GSUS
C-4TPRESD100G

C-4TPRESD100GCF
C-4TPRESD100GSUS

C-4ATPRESDTSG
C-4ATPRESDT7SGCP

C-4ATPRESDTSGSUS
C-4ATPRESD100G

C-4ATPRESD100GCP

C-4ATPRESD100GSUS

%,

{rrumi)

g
75

75

50
50
50
75
75
75
100
100
100

75
75
L=
100
100
100

75
75
75
100
100
100

75

75

75
100
100
100

Wheel
Material

TPR

TPR

TPR

TPR
TPR
TPR
TPR
TPR
TPR
TPR
TPR
TPR

TPR
TPR
TPR
TPR

TPR
TPR

TPR
TPR
TPR
TPR
TPR

TPR

TPR
TPR
TPR
TPR
TPR
TPR

b ¢ @It

32

B BB B

S

GRS

32

32

100

100

100

100
100
100
100
100
100
130
130
130

100
100
100
130
130
130

100
100

100
130
130
130

100
100
100
130
130
130

104

104

104

90
90
80
104
104
104
130
130
130

104
104
104
130
120
130

104
104
104
130
130
130

104
104
104
130
130
130

M12 X 60

M12 X G0

M12 X 60

M12 X 60
M12 X 60
M12 X 60
M12 X 80
M12 X 60
M12 X 60
M12 X 60
M12 X 60
M12 X 60

M12 X GO
M12 X 60
M12 X G0
M12 X 60
M12 X B0
M12 X GO

M12 X 60
M12 X 60
M12 X 60
M12 X 60

M12 X 60

M12 X 60

M12 X 60
M12 X 60
M12 X 60
M12 X 60
M12 X 60

M12 X 60



[ — f—
Picture Part No. yxiee "[I“ % @I E]I I
[} (i) (kg {mim) (L]

Material
(A}

C-5TPR100G 100 TPR 32 130 128 95X67  73X45
C-5TPRESD100G 100 TPR 32 130 128 95X67  T3IX45
C-7
C-7TPR100G 100 TPR 32 130 128 95X 67 T3X45
C-7 ESD
- C-TTPRESD100G 100 TPR 32 130 128 95X 67 73X 45

51



R N\\\\

52

CASTERS

Picture

Part No.

C-8TPR150G

C-8TPRESD150G

C-8STPUZDOR

(i)

150

150

200

Wheel
Material

TPR

TPR

PU

{ <

{mm)

50

=0

50

(kg

410

410

480

!'l H
Ul (el
{imem}

190

190

2405

{rrm)

115 X 100

115 X 100

115 X 100

—

=) .::-|
ﬂ'}@ (] I
{Fme)

84 X713

84 X713

84 X713



b # —H
Picture Part No. @ h:r:?:r?;l "D" % @I I I
) () L {mem} {msmi} {mmy

C-10A

C-10ATPR150G 150 TPR 50 410 190 115X 100 84X 713
C-10ATPRESD150G 150 TPR 50 410 190 115X 100 84X 713

C-10APU
C-10ASTPU200R 200 PU 50 480 2405  115X100 84 X713

@
¢
ﬁ.

53



______\\\\N
CASTERS

C-14 C-15

: o .
o *}i - |
M-“”d-"-ﬁ: ; ' = T ‘-)!'
\';';’?!Ef"; m / QM =

54

kg/Pe
PelCin

1.010
20




